1IXBC xut(1ky6.m) 17,05/16,68 18,94/18,57 568581,69 588801,70
2|XBC vyok(1ky6.m) 17,05/16,68 18,94/18,57 6967,54 6658,22
3|Hap6aska XBC(1ky6.m) 0,37 0,37 0,00 0,00
4]XBC Ha Hyxgbl BC(1ky6.m) 11,00 18,94/18,57 399962,40 346042,40
|Uroro: XBC 975511,63 941502,32
5|Kananusauus xvT (1ky6.m) 9,95/9,73 11,17/10,96 542584,93 554790,84
6|Kananuaaumsiiok(1ky6.m) 9,95/9,73 11,17/10,96 5904,47 5254,01
7|Han6aska kananusau. (1ky6.N 0,21 0,21 0,00 0,00
Uroro: Kananus. 548489,40 560044,85 |
8|rBC xur (1Mkan) 1039,66 1202,74 1628163,23 1665824,63
9|Tennonotepu MBC xut pacuert pacuer 46480,84 64460,13
10|rBC uok(1Mkan) 1039,66 1202,74 17163,83 12896,11
11|{Tennonotepun NBC (Ljok) pacueTt pacuer 0,00 0,00
12|Noporpes 0,00 0,00
Wroro: MBC 1691807,90 1743180,87
13|0Tonnexue xut(1Mkan) 996,03 1086,17 2260608,56 2035077,60
14|OTtonnenuellok(1Mkan) 996,03 1086,17 130511,2 110747,23
Wroro: Otonnexve 2391119,76 2145824,83

o

15[3nekTpoaHeprust xuT(1kBT) 1,97 2,14 2384764,71 2413804,16
16[3nekTp. MOM xuT(1kBT) pac 1,97 2,14 325888,58 339872,73
17|3nekTposHeprusliok(1kBT) 3,12/Cs 5,06/Cs 324461,05 301893,57
18[3nektp. MOM(1kBT) pacuetlLiok 1,97 2,14 21513,15 19941,03 |.
19|3nekTpo3nepr Ky6renekom(1kd  3,12/Cs 5,06/Cs 18094,16

OTKNnoHeHue:

18094,14
5

-197491,84



